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考研英语阅读导学班讲义

第一部分：对于长难句课程难点重点的回顾

非简单句的障碍来源：

非简单句:﹛S1，S2，S3，S4,…Sn﹜

如何拆分和组合句子
非简单句的障碍解决方案
一．关联词和主句专一原则
关联词:
1. 关系代词：that, who, whom, which,what,as,whose,

2. 关系连词：if, whether, when, where,

3. 标点符号：   ,  ----

                 ;

4. 并列连词：and，or

主句专一原则:

1. 一个句子只能有一个主句，主句中没有关联词。

2. 一个句子中有n个分句，则只有n-1个关联词。

例证：                                      

句子之间的关联方式

1.并列

并列联词的用法
例1..It is a little upsetting to read that a certain line describes a fight between a Turkish and a Bulgarian officer and to find that the line consists of the noise of their falling and the weights of the officers, "Pluff! Pluff!" A hundred and eighty-five kilograms.


2.主从复合（嵌套）
    主从复合句的分类：

三大从句：

名词性从句：

    主语从句，宾语从句，表语从句，同位语从句

形容词性从句：

定语从句

副词性从句：

状语从句

常见的关联词：

名词性从句：关系代词：what，who，whom，which,

            关系连词：that,when,where,how, 

形容词性从句：见定语从句

副词性从句：见后表格； 

名词性从句的分类讲解：

	状语从句种类
	常用连接词
	特殊连接词

	时间状语从句
	When, while, as, before, since, till, until, as soon as
	1. 一些时间名词：the moment, the instant, the minute, the day, next time, every time

2. 一些副词：instantly, immediately, directly

3. 固定搭配的连词：no sooner---than, hardly---when, scarcely---when.

	地点状语从句
	Where
	Wherever, anywhere, everywhere

	原因状语从句
	Because, as, for, since
	Seeing that, considering that, now that, given that, in that, inasmuch as, insomuch as

	目的状语从句
	So that, in order that, that
	Lest, for fear that, in case, in the hope that, on purpose that, for the purpose that, to the end that

	结果状语从句
	So---that, so that, such---that
	Such that, to the degree that, to the extent that, to such a degree that, to such an extent that

	条件状语从句
	If, unless
	Suppose, supposing, providing, provided(特别关注：supposed, provide不用作条件从句的连词）on condition that, so long as, as long as

	让步状语从句
	Although, though, even though, even if
	While(一般用在句首), as(用于倒装结构),whatever, whoever, whichever, however, whenever, wherever, whether --- or---, as adj. as +主谓结构用在句首

	比较状语从句
	As, than
	The more---, the more---; just as---, so---;
A is to B what/as C is to D; no more--than;

not A so much as B/not so much A as B

	方式状语从句
	as, the way
	 


主语从句：

结构识别：(1).关系连词+句子+动词

(2). It+ be动词+形容词/名词短语+关系连词+句子

(3). It +不及物动词+that  

例子：1.That the seas are being over fished has been known for years.

      2.That the plates are moving is not beyond dispute.

      3.What happened on the GuangMingDing will be forever etched in zhangwuji’s memory. 

      4.It is generally agreed that a person of high intelligence is one who can grasp ideas readily, make distinctions, reason logically, and make use of verbal and mathematical symbol in solving problems.

       人们普遍认为，高智商的人有这样一些特点：理解力强，辨别力强，逻辑推理能力强，并且在解决问题的过程中善于利用文字或数学符号。 

       It is clear that … 显然；



it is possible that … 很可能…
       It is likely that …很可能；


it is natural that … 很自然…
       It is certain that …可以相信；


it is strange that …奇怪的是…
       It is fortunate that…幸运的是；

it is necessary that …有必要的是…
      5.It is obvious that a majority of the president’s advisers still don’t take global warming seriously.

      6.It is a truth universally acknowledged that a single man in possession of a good fortune must be in want of a wife. (Pride and Prejudice)

       It is a pity that …可惜的是…   

It is a fact that …
       It is a good news that ……真是太好了
It is a good thing that … … 真是件好事

       It is no wonder that …难怪…    

It is a shame that… 遗憾的是…/…真是太不像话了

       It is an honor that … 真荣幸…   

It is common knowledge … 是常识

       It is my belief that… 我相信…   

It is a miracle that …  …真是奇迹

       It is an established fact that factory workers work better , harder, and have fewer accidents when their machines are painted orange rather than black or grey.

                         , 如果把工厂里的机器漆成橘黄色而不是黑色或灰色，工人就会干的更勤奋，更出色，事故也会更少。

     7.It seemed that Canada was once more falling in step with the trend toward smaller families that occurred through all the Western world since the time of the Industrial Revolution.

       It seems that …似乎，  It follows that…因此

       It happens that…碰巧， It turns out that…结果,

     8. It is critical that our nation and the world base important policies on the best judgments that science can provide concerning the future consequences of present actions.

宾语从句

结构识别：（1）动词+关联词+句子

（2）动词+宾语1+关联词+句子

（3）介词+关联词+句子

（4）动词+it形式宾语+宾补+关联词+句子

例子：1. I have learned that love, not time, heals all wounds. 

      2. Xiaoguaishou assured Oatman that he had no intention of offending him. 

      3. "The test of any democratic society,” he wrote in a Wall Street Journal column, "lies not in how well it can control expression but in whether it gives freedom of thought and expression the widest possible latitude, however disputable or irritating the results may sometimes be.”
        他在《华尔街日报》的一个专栏写道：“对于任何民主社会的检验不在于它能多有效的控制言论的自由表达，而在于它能否最大限度的赋予思想自由和表达自由，尽管其结果有时可能会非常有争议和令人不悦。

4.we must make it clear that the parties involved are to make every effort to curb the pollution.

        我们必须强调清楚，有关方面应该尽一切努力来治理污染。 

表语从句

结构的识别：

系动词+关联词+句子

例子：The reason for my return is   I left my keys behind. (because/that)

同位语从句

结构识别：

名词+that+句子

名词+定语+that+句子

名词+谓语+that+句子

例子：

1. I have been left with the knowledge that it’s better to expect nothing than to give everything and then be disappointed

我从中懂得了，不抱任何希望比付出努力却最终失望要好。

2. The statement by the One Ear that he did not kill Pikachu was rejected by the black cat sergeant.  

3. Concerns(evidence)  were raised that the One ear is the real murder.

层次化句子阅读方法

1.层次化结构的表示形式
例子：1.However, for many years, physicists thought that atoms and molecules always were much more likely to emit light spontaneously and that stimulated emission thus always would be much weaker.

3. The history of clinical nutrition or the study of the relationship between health and how the body takes in and utilizes food substances, can be divided into four distinct eras: the first began in the nineteenth century and extended into the early twentieth century when it was recognized for the first time that food contained constituents that were essential for human function and that different foods provided different amounts of these essential agents. 
非正常语序：

非正常语序之倒装句 

倒装句的分析方法
倒装句的定义：

倒装句的分类:

倒装句的处理流程:

部分倒装：

1. 部分倒装的定义：
2. 部分倒装的识别和还原：

完全倒装：         

1.完全倒装定义：
2.完全倒装的存在环境:

2.1能够在句子中充当主语和表语的成份

      

3.完全倒装的判断流程

倒装的例句：

例1：Herein lay the beginning of what ultimately turned from ignorance to denial of the value of nutritional therapies in medicine.

例2：Surrounding the column are three sepals and three petals, sometimes easily recognizable as such, often distorted into gorgeous, weird, but always functional shapes.

例2.2: Emerging from the 1980 census is the picture of a nation developing more and more regional competition, as population growth in the Northeast and Midwest reaches a near standstill.
例3：With the growing prosperity brought on by the Second World War and the economic boom that followed it, young people married and established households earlier and began to raise larger families than had their predecessors during the Depression.

例4：Basic to any understanding of Canada in the 20 years after the Second World War is the country’s impressive population growth.

例4．1 ：Scattered around the globe are more than 100 small regions of isolated volcanic activity known to geologists as hot spots.

例4.2．Adding to a woman’s increased dose of stress chemicals, are her increased “opportunities” for stress.

例5：Among the species of seabirds that use the windswept cliffs of the Atlantic coast of Canada in the summer to mate, lay eggs, and rear their young are common murres, Atlantic puffins, black-legged kittiwakes, and northern gannets.

例6：Most important, perhaps, was that they had all maintained with a certain fidelity the technique and composition consistent with those of America’s first popular landscape artist, Thomas Cole, who built a career painting the Catskill Mountain scenery bordering the Hudson River. 

例7：Accustomed though we are to speaking of the films made before 1927 as “silent”, the film has never been real silent.

例8：Coincident with concerns about the accelerating loss of species and habitats has been a growing appreciation of the importance of biological diversity, the number of species in a particular ecosystem, to the health of the Earth and human well-being.

例9：Matching the influx of foreign immigrants into the larger cities of the United States during the late nineteenth century was a domestic migration from town and farm to city, within the United States.

例10：Indeed, had it not been for the superb preservation of these fossils, they might well have been classified as dinosaurs.

例11: All would be well ，were reason the only judge in the creationism and evolution debate.

非正常语序之强调句的分析方法
1.强调句的构成
2.强调句的处理方法

例1：It was just a decade before this that many drug companies had found their vitamin sales skyrocketing and were quick to supply practicing physicians with generous samples of vitamins and literature extolling the virtue of supplementation for a variety of health-related conditions.

例2：It was she, a Baltimore printer, who published the first official copies of the Declaration, the first copies that included the names of its signers and therefore heralded the support of all thirteen colonies.

例3：It was in the cities that the elements that can be associated with modern capitalism first appeared— the use of money and commercial paper in place of barter, open competition in place of social deference and hierarchy, with an attendant rise in social disorder, and the appearance of factories using coal or water power in place of independent craftspeople working with hand tools.
第二部分 真题演练

Text 1

A history of long and effortless success can be a dreadful handicap, but, if properly handled, it may become a driving force. When the United States entered just such a glowing period after the end of the Second World War, it had a market eight times larger than any competitor, giving its industries unparalleled economies of scale. Its scientists were the world’s best, its workers the most skilled. America and Americans were prosperous beyond the dreams of the Europeans and Asians whose economies the war had destroyed.

It was inevitable that this primacy should have narrowed as other countries grew richer. Just as inevitably, the retreat from predominance proved painful. By the mid-1980s Americans had found themselves at a loss over their fading industrial competitiveness. Some huge American industries, such as consumer electronics, had shrunk or vanished in the face of foreign competition. By 1987 there was only one American television maker left, Zenith. (Now there is none: Zenith was bought by South Korea’s LG Electronics in July.) Foreign-made cars and textiles were sweeping into the domestic market. America’s machine-tool industry was on the ropes. For a while it looked as though the making of semiconductors, which America had invented and which sat at the heart of the new computer age, was going to be the next casualty.

All of this caused a crisis of confidence. Americans stopped taking prosperity for granted. They began to believe that their way of doing business was failing, and that their incomes would therefore shortly begin to fall as well. The mid-1980s brought one inquiry after another into the causes of America’s industrial decline. Their sometimes sensational findings were filled with warnings about the growing competition from overseas.

How things have changed! In 1995 the United States can look back on five years of solid growth while Japan has been struggling. Few Americans attribute this solely to such obvious causes as a devalued dollar or the turning of the business cycle. Self-doubt has yielded to blind pride. “American industry has changed its structure, has gone on a diet, has learnt to be more quick-witted,” according to Richard Cavanagh, executive dean of Harvard’s Kennedy School of Government. “It makes me proud to be an American just to see how our businesses are improving their productivity,” says Stephen Moore of the Cato Institute, a think-tank in Washington, DC. And William Sahlman of the Harvard Business School believes that people will look back on this period as “a golden age of business management in the United States.”

51.
The U.S. achieved its predominance after World War II because ________.

[A] it had made painstaking efforts towards this goal

[B] its domestic market was eight times larger than before

[C] the war had destroyed the economies of most potential competitors

[D] the unparalleled size of its workforce had given an impetus to its economy

52.
The loss of U.S. predominance in the world economy in the 1980s is manifested in the fact that the American ________.

[A] TV industry had withdrawn to its domestic market

[B] semiconductor industry had been taken over by foreign enterprises

[C] machine-tool industry had collapsed after suicidal actions

[D] auto industry had lost part of its domestic market

53.
What can be inferred from the passage?

[A] It is human nature to shift between self-doubt and blind pride.

[B] Intense competition may contribute to economic progress.

[C] The revival of the economy depends on international cooperation. 

[D] A long history of success may pave the way for further development.

54.
The author seems to believe the revival of the U.S. economy in the 1990s can be attributed to the ________.

[A] turning of the business cycle

[B] restructuring of industry

[C] improved business management

[D] success in education

Text 2

Being a man has always been dangerous. There are about 105 males born for every 100 females, but this ratio drops to near balance at the age of maturity, and among 70-year-olds there are twice as many women as men. But the great universal of male mortality is being changed. Now, boy babies survive almost as well as girls do. This means that, for the first time, there will be an excess of boys in those crucial years when they are searching for a mate. More important, another chance for natural selection has been removed. Fifty years ago, the chance of a baby (particularly a boy baby) surviving depended on its weight. A kilogram too light or too heavy meant almost certain death. Today it makes almost no difference. Since much of the variation is due to genes, one more agent of evolution has gone.

There is another way to commit evolutionary suicide: stay alive, but have fewer children. Few people are as fertile as in the past. Except in some religious communities, very few women have 15 children. Nowadays the number of births, like the age of death, has become average. Most of us have roughly the same number of offspring. Again, differences between people and the opportunity for natural selection to take advantage of it have diminished. India shows what is happening. The country offers wealth for a few in the great cities and poverty for the remaining tribal peoples. The grand mediocrity of today -- everyone being the same in survival and number of offspring -- means that natural selection has lost 80% of its power in upper-middle-class India compared to the tribes.

For us, this means that evolution is over; the biological Utopia has arrived. Strangely, it has involved little physical change. No other species fills so many places in nature. But in the pass 100,000 years -- even the pass 100 years -- our lives have been transformed but our bodies have not. We did not evolve, because machines and society did it for us. Darwin had a phrase to describe those ignorant of evolution: they “look at an organic being as a savage looks at a ship, as at something wholly beyond his comprehension.” No doubt we will remember a 20th century way of life beyond comprehension for its ugliness. But however amazed our descendants may be at how far from Utopia we were, they will look just like us.

55.
What used to be the danger in being a man according to the first paragraph?

[A] A lack of mates.



[B] A fierce competition.

[C] A lower survival rate.
 


[D] A defective gene.

56.
What does the example of India illustrate?

[A] Wealthy people tend to have fewer children than poor people.

[B] Natural selection hardly works among the rich and the poor.

[C] The middle class population is 80% smaller than that of the tribes. 

[D] India is one of the countries with a very high birth rate.

57.
The author argues that our bodies have stopped evolving because ________.

[A] life has been improved by technological advance

[B] the number of female babies has been declining

[C] our species has reached the highest stage of evolution

[D] the difference between wealth and poverty is disappearing

58.
Which of the following would be the best title for the passage?

[A] Sex Ratio Changes in Human Evolution

[B] Ways of Continuing Man’s Evolution

[C] The Evolutionary Future of Nature

[D] Human Evolution Going Nowhere

Text 3

When a new movement in art attains a certain fashion, it is advisable to find out what its advocates are aiming at, for, however farfetched and unreasonable their principles may seem today, it is possible that in years to come they may be regarded as normal. With regard to Futurist poetry, however, the case is rather difficult, for whatever Futurist poetry may be -- even admitting that the theory on which it is based may be right -- it can hardly be classed as Literature.

This, in brief, is what the Futurist says; for a century, past conditions of life have been conditionally speeding up, till now we live in a world of noise and violence and speed. Consequently, our feelings, thoughts and emotions have undergone a corresponding change. This speeding up of life, says the Futurist, requires a new form of expression. We must speed up our literature too, if we want to interpret modern stress. We must pour out a large stream of essential words, unhampered by stops, or qualifying adjectives, or finite verbs. Instead of describing sounds we must make up words that imitate them; we must use many sizes of type and different colored inks on the same page, and shorten or lengthen words at will.

Certainly their descriptions of battles are confused. But it is a little upsetting to read in the explanatory notes that a certain line describes a fight between a Turkish and a Bulgarian officer on a bridge off which they both fall into the river -- and then to find that the line consists of the noise of their falling and the weights of the officers: “Pluff! Pluff! A hundred and eighty-five kilograms.”
This, though it fulfills the laws and requirements of Futurist poetry, can hardly be classed as Literature. All the same, no thinking man can refuse to accept their first proposition: that a great change in our emotional life calls for a change of expression. The whole question is really this: have we essentially changed?

59.
This passage is mainly ________.

[A] a survey of new approaches to art

[B] a review of Futurist poetry

[C] about merits of the Futurist movement\
[D] about laws and requirements of literature

60.
When a novel literary idea appears, people should try to ________.

[A] determine its purposes



 [B] ignore its flaws

[C] follow the new fashions



 [D] accept the principles

61.
Futurists claim that we must ________.

[A] increase the production of literature

[B] use poetry to relieve modern stress

[C] develop new modes of expression

[D] avoid using adjectives and verbs

62.
The author believes that Futurist poetry is ________.

[A] based on reasonable principles

[B] new and acceptable to ordinary people

[C] indicative of basic change in human nature

[D] more of a transient phenomenon than literature

Text 4
Aimlessness has hardly been typical of the postwar Japan whose productivity and social harmony are the envy of the United States and Europe. But increasingly the Japanese are seeing a decline of the traditional work-moral values. Ten years ago young people were hardworking and saw their jobs as their primary reason for being, but now Japan has largely fulfilled its economic needs, and young people don’t know where they should go next.

The coming of age of the postwar baby boom and an entry of women into the male-dominated job market have limited the opportunities of teenagers who are already questioning the heavy personal sacrifices involved in climbing Japan’s rigid social ladder to good schools and jobs. In a recent survey, it was found that only 24.5 percent of Japanese students were fully satisfied with school life, compared with 67.2 percent of students in the United States. In addition, far more Japanese workers expressed dissatisfaction with their jobs than did their counterparts in the 10 other countries surveyed.

While often praised by foreigners for its emphasis on the basics, Japanese education tends to stress test taking and mechanical learning over creativity and self-expression. “Those things that do not show up in the test scores -- personality, ability, courage or humanity -- are completely ignored,” says Toshiki Kaifu, chairman of the ruling Liberal Democratic Party’s education committee. “Frustration against this kind of thing leads kids to drop out and run wild.” Last year Japan experienced 2,125 incidents of school violence, including 929 assaults on teachers. Amid the outcry, many conservative leaders are seeking a return to the prewar emphasis on moral education. Last year Mitsuo Setoyama, who was then education minister, raised eyebrows when he argued that liberal reforms introduced by the American occupation authorities after World War II had weakened the “Japanese morality of respect for parents.”
But that may have more to do with Japanese life-styles. “In Japan,” says educator Yoko Muro, “it’s never a question of whether you enjoy your job and your life, but only how much you can endure.” With economic growth has come centralization; fully 76 percent of Japan’s 119 million citizens live in cities where community and the extended family have been abandoned in favor of isolated, two-generation households. Urban Japanese have long endured lengthy commutes (travels to and from work) and crowded living conditions, but as the old group and family values weaken, the discomfort is beginning to tell. In the past decade, the Japanese divorce rate, while still well below that of the United States, has increased by more than 50 percent, and suicides have increased by nearly one-quarter.

63.
In the Westerner’s eyes, the postwar Japan was ________.

[A] under aimless development



 [B] a positive example

[C] a rival to the West





 [D] on the decline

64.
According to the author, what may chiefly be responsible for the moral decline of Japanese society?

[A] Women’s participation in social activities is limited.

[B] More workers are dissatisfied with their jobs.

[C] Excessive emphasis has been placed on the basics. 

[D] The life-style has been influenced by Western values.

65.
Which of the following is true according to the author?

[A] Japanese education is praised for helping the young climb the social ladder.

[B] Japanese education is characterized by mechanical learning as well as creativity.

[C] More stress should be placed on the cultivation of creativity. 

[D] Dropping out leads to frustration against test taking.

66.
The change in Japanese life-style is revealed in the fact that ________.

[A] the young are less tolerant of discomforts in life

[B] the divorce rate in Japan exceeds that in the U.S.

[C] the Japanese endure more than ever before

[D] the Japanese appreciate their present life
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